23 22 o 20 19 18 n 15

2
TWA020_SVC

\

PROPRIETARY NOTICE:

THIS DOCUMENT CONTAINS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTEMS INC., (ALSO DBA LIGHTWAVE RESEARCH) AND IS GIVEN TO THE RECEIVER IN CONFIDENCE
THE RECEIVER ACCEPTS AND AGREES THAT, EXCEPT AS AUTHORIZED BY HIGH END SYSTEMS, THE RECEIVER WILL NOT PERMIT THE USE OF THE DOCUMENT OR ANY COPY THEREOF OR THE
INFORMATION THEREIN, WILL NOT COPY OR PERMIT COPYING THE DOCUMENT WILL NOT DISCLOSE TO OTHERS EITHER THE DOCUMENT OR THE INFORMATION THEREIN, AND WILL UPON COMPLETION

FOR SERVICE
REFERENCE ONLY

OF THE NEED TO RETAIN THE DOCUMENT, OR UPON DEMAND, RETURN THE DOCUMENT WITHOUT RETAINING ANY OF THE INFORMATION CONTAINED THEREIN IN ANY FORM WHATSOEVER
70 T H 0 S 8 M 13

g 3 T

13 [6.10"[FOAM, brm X I7.Imm X 8mm [99330162 FOAM, 6mm X 17 Imm x . 8mm GRAY ADHESIVE FOAN
12 | W22 80070445 TUBE, ZOOM, FRESNEL
I 2 |Tw3ss 99260520 SHAFT, 250 DIA, FRESNEL ZOOM
10 2 |SCREWM4ASO6CUP-SSP 91190406 SCREW,M4 SOCKET SET, CUP, 06 SS W/PATCH
9 7 [SCREWM3AF08BZ 91040308 SCREW,M3 SOCKET CSNK FLAT 08 BZ W/PATCH
8 12 |RIVET43DSP 90701091 RIVET,1/8 X .127-.187 GRIP AL BLK
7 | TW316 80070447 RING,PUSH, FRESNEL
6 | TW349 80070449 RETAINER, FORMED, ACRYLIC FRESNEL
5 3 [Twiza 80070446 PLATE, NUT, FRESNEL TUBE
4 2 [NUT58-24LPS 90703053 NUT.PANEL MOUNT 5/8-24 X 3/32 BRASS
3 2 |SP096 90703052 NUT,LEAD SCREW, 1/4-16 4 START
2 2 |Tw3s4 99260524 MOUNT, SHAFT, FRESNEL
I I |Twa04 99090080 LENS, FRESNEL, 324mm (12 .756") FL, ACRYLIC
ITEM NO_| OTY. FILENAME PART NO. DESCRIPTION
BILL OF MATERIALS
UNLESS OTHERWISE SPECIFIED [RELEASE DATE: CE: i 2105 GRACY FARMS LANE
e ou! TOEACES . [CNG. o M "Nt e s
0 PLACE DECIMAL = 20 38 [\p FAX (512) 832-4128  LIGHTWAVE
| PLACE DECIMAL = £0.25
3 PUACE DEChuALs =20 33 [wre: ORW svaseme® hifp://nwm highend. con RESEARCHa
ANGLES = 0.5 DESCRIPTION:
FOR PAINTED PARTS REFER To|F RESNEL LENS TUBE ASSEMBLY
ENG. SPEC. MANUAL WI-0592 [waverins AT
ALL COMPONENTS, NATERIALS AND | CHARTED N/A
FINISHES TO BE RoHS COMPLIANT
W4 ‘AQLER;?ETSSITSQE"ONS PER SI PART NO. DRAWING NO. REV.
s THIRD ANGLE PROJECTION wwe | [NTERNAL [TWAO20_SVC| NA
VoL DIMENSIONS ARE IN NiLLInETERs| AT 5 WOT SCALE ]sSALE: 0500 [SHEET: 1 OF 1




